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O34
migd MR F4 | KE (gﬂ'lfagl k=
L4 = 2 778 430,500
L4 = 2 794| 434,700
L4 = 2 799 417,900
L4 = 2 820| 451,500
L4 i3 2 479 162,750
L4 i3 3 550/ 190,050
L4 i3 3 557/ 189,000
L4 i3 4 521 89,250
L4 i3 5 709] 178,500
L4 i3 5 710/ 201,600
L4 i3 5 882| 321,300
L4 i3 6 614 94,500
L4 i 6 692 162,750
3L4 i 6 743| 171,150
L4 i 6 779] 257,250
L4 i3 7 568 74,550
L4 i3 7 643 95,550
L4 i3 7 671| 127,050
L4 i3 7 806| 217,350
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migd MR % | KE | @GHiAH) &5

F1 = 3 845| 622,650
F1 *= 3 865| 632,100
F1 = 3 874| 645,750
F1 = 3 891| 657,300
F1 i3 3 644 454,650
F1 i 3 672| 478,800
F1 i3 3 724] 519,750

R4 |MHA| BE | KE | Ead) | RS
FIEREE  |M 24 55 194,250 [{K4}
BT | 62 73| 108,150 |{k4t
A= i 65 93| 264,600 [ZEEAI{K44
BEREE |t 66 61| 194,250 [{kA
e B 71 83|  219.450 |tk¥t
Ba%k |t 93 85| 274,050 [{AIN
BEx |# 93 105 297,150 [k
EEm | 105 121] 281,400 [N
EER | 112 105 246,750 [{KA
Eizm | 126 175 316,050 [{AR
OFMFERE—IL
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migd |MA% 5| KE | GaAH) k=
e i 1 57| 172,200 [{AKRET
M4 i 1 66| 168,000 [{ARET
e i 1 53| 257,250 [AIEF
@4

BT

migd |Mh% 5| KE | @A) &5
e i 3 552| 476,700
4 i 6 466 191,100 [3FiR4
4 i 8 707] 336,000
4 i3 9 589 217,350
M4 i 11 504| 148,050
e i 12 400 75,600
e i3 12 450 144,900
M4 ik 13 372 84,000
4 i3 17 593| 180,600
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